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\
Exa m p | e The cables attached to the screw eye are subjected to the three

forces shown.
- —3son  (a) Express each force vector using the Cartesian vector form
(components form).
(b) Determine the magnitude of the resultant force vector

(c) Determine the direction cosines of the resultant force
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Position vectors
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lengths of wires AD, BD and CD

Dis midway between ALY:

/,
Exa m p | e The ring at D is midway between points A and B. Determine the
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Force vector directed along a line

The force vector Facting a long the rope can be defined by
the unit vector # (defined the direction of the rope) and the
magnitude of the force.
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Force vector directed along a line

Don’t look up!
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Dot (or scalar) product

Laws of operation:
Note that:
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A- (B+C)=A-B+A-C
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The dot product of vectors A and B is defined as such
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